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THEFE EfBEREFAEFER

K5 Bten  |pasesn | prsesna | 2R | g 5T %
4AERIE H31.4.24 (5K) | 15:30 17:30 120 0 |[K&EE
5AEHI= R1.527 (B) | 15:30 17:15 105 2 |KR&BE
68 EHI= R1.6.26 (JK) | 15:30 17:00 90 5 |HE=E
TR EHI= R1.7.30 (&) | 15:30 18:10 160 2 |KR&BE
8AEHI= R1.8.26 (A) | 15:30 16:55 85 2 |KR&BE
IAEHI= R1.9.26 (K) | 15:30 18:00 150 1 | RREBE
10AEflE R1.10.25 (&) | 15:00 16:55 115 0 |[K&EE
NAEH= R1.11.26 (k) | 15:30 16:55 85 1 | ReE=E
12AEHIE R1.12.26 (K) | 15:30 RREBE
R2.1.27 (A) | 15:30 RKSEE LUFE
1AEHI=
R2.1.24 (£) | 15:30 MEE= EEE
R2.2.26 (JK) | 15:30 RKSEE LUFE
2AERI=
R2.2.28 (&) | 15:30 MEE= EEE
R R2.3.26 (K) | 15:30 RKSBE LUFE
AERE R2.3.24 (X) | 15:30 MEE= ETEE




TH2EE ERHERERFAETFTER

K5 sen  |pasesn | prsesna | 2R | g 5 %
4R EfI= R2.4.30 (K) | 15:30 e
5AEHI= R2526 () | 15:30 REEBE
68 EHI= R2.6.26 (&) | 15:30 ARREBE
TR EHI= R2.7.31 (&) | 15:30 ARRBE
8 AEHI= R2.8.25 (X) | 15:30 ARRBE
IAERI= R29.28 (A) | 15:30 RREBE
10AEfl= R2.10.29 (K) | 15:30 MEE
HAZERIS R2.11.30 (B) | 1530 ARREBE
12AEHIE R2.12.22 (k) | 15:30 ARREBE
1AEH= R3.1.26 () | 15:30 ARREBE
2AERI= R3.2.26 (&) | 15:30 ARREBE
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SAEHFIE R3.3.23 (AK) [ 15:30




